What is the value of
the 5 in each number?

615,874 =

612,322.51 = woovoeerrn
5.782,912 = cooovoceeeersn
2 456.37= woooeeersreresese

You have £15 to pay for
three items. They cost
£2.67,£3.95 and £1.13.
How much change should
you get back?

The temperature is -4°C.
It drops by 5°C, what is the
temperature

NOW? oo

The temperature is -8°C.
It rises by 8°C, what is the
temperature

NOW? oo

Calculate the area of the triangle BCD.

A B

What time is on the clock? ........ccceceueneeee.

What time was it Shour and 15 minutes

[T 7
What time will it be in 6 hours and 35

MINUTES? ooeceececeeseresaeras s sseerasanns




